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Unemployment

Unemployment is said to exist when people who are willing to work at the
going wages cannot find jobs

Types of Unemployment —Seasonal, Disguised Unemployment, Educated
Unemployment

Seasonal unemployment happens when people are not able to find jobs during
some months of the year. People dependent upon agriculture usually face such
kind of problem. There are certain busy seasons when sowing, harvesting,
weeding and threshing is done. Certain months do not provide much work to the
people dependant on agriculture.

In case of disguised unemployment people appear to be employed. They have
agricultural plot where they find work.

This usually happens among family members engaged in agricultural activity.
The work requires the service of five people but engages eight people. Three
people are extra. These three people also work in the same plot as the others.
The contribution made by the three extra people does not add to the contribution
made by the five people. If three people are removed the productivity of the
field will not decline

In case of urban areas educated unemployment has become a common
phenomenon

Many youth with matriculation, graduation and post graduation degrees are not
able to find job. A study showed that unemployment of graduate and post-
graduate has increased faster than among matriculates.

Agriculture is the most labour absorbing sector of the economy

Problems of Unemployment-

Unemployment leads to wastage of manpower resource. People who are an
asset for the economy turn into a liability. There is a feeling of hopelessness and
despair among the youth. People do not have enough money to support their



family. Inability of educated people who are willing to work to find gainful
employment implies a great social waste. Unemployment tends to increase
economic overload. The dependence of the unemployed on the working
population increases. The quality of life of an individual as well as of society is
adversely affected. When a family has to live on a bare subsistence level there is
a general decline in its health status and rising withdrawal from the school
system.

Let us discuss about the employment scenario in the three sectors mentioned
earlier. Agriculture, is the most labour absorbing sector of the economy. In
recent years, there has been a decline in the dependence of population on
agriculture partly because of disguised unemployment discussed earlier. Some
of the surplus labour in agriculture has moved to either to the secondary or to
the tertiary sector In the secondary sector, small scale manufacturing is the most
labour absorbing. In case of the tertiary sector, various new services are now
appearing like biotechnology, information technology and so on.

The two following cases illustrate how people can try to become a more
productive resource:
(The story of Sakal and the story of Vilas)

A story to know how people could become an asset for the economy of
a village.

Story of a Village (For Reference)



